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class Rock {
Rock () {
System.out.println("Creating Rock") ;
}
}

public class SimpleConstructor {
public static void main(String[] args) {
for(int i = 0; i < 10; i++)
new Rock () ;
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class Rock2 {
Rock2 (int i) {

System.out.println("Creating Rock number " + i)
}



public class SimpleConstructor2 ({
public static void main(String[] args) {
for(int i = 0; i < 10; i++)
new Rock2 (i) ;
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Void £() {}

Int £() {}
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class Tree {

int height;

Tree () {
prt("Planting a seedling");
height = 0;

}

Tree (int i) {
prt("Creating new Tree that is "
+ i+ " feet tall");
height = 1i;

}

void info () {
prt("Tree is " + height
+ " feet tall");

}

void info(String s) {

prt(s + ": Tree is "

+ height + " feet tall");
}

static void prt(String s) {
System.out.println(s) ;
}
}

public class Overloading ({
public static void main(String[] args) {
for(int i = 0; i < 5; i++) {
Tree t = new Tree(i);
t.info () ;
t.info ("overloaded method") ;

}

new Tree() ;
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class Bird {
int i;
}
public class DefaultConstructor ({

public static void main(String[] args) {
Bird nc = new Bird();

}
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class Bush {

Bush(int i) {}
Bush (double d) {}
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public class Leaf {
int i = 0;

Leaf increment() {



i++;
return this;

}

void print() {
System.out.println("i = " + 1i);

}

public static void main(String[] args) {
Leaf x = new Leaf ()
X.increment () .increment () .increment () .print() ;
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class a {
int n;
void p (int n) {

this.n=n;



public class Flower ({
int petalCount = 0;
String s = new String("null");

Flower (int petals) {
petalCount = petals;
System.out.println (
"Constructor w/ int arg only, petalCount= "
+ petalCount) ;
}

Flower (String ss) {
System.out.println (
"Constructor w/ String arg only, s=" + ss);
s = ss;

}

Flower (String s, int petals) {
this (petals) ;
//' this(s); // Can't call two!
this.s = s; // Another use of "this"
System.out.println("String & int args");
}

Flower () {
this ("hi", 47);
System.out.println (
"default constructor (no args)");

}

void print() {
//' this(11l); // Not inside non-constructor!
System.out.println (
"petalCount = " + petalCount + " s = "+ s);
}

public static void main(String[] args) {
Flower x = new Flower () ;
xX.print();
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void £() {
int i;
i++;
}
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class A {
boolean b = true;

char ¢ = 'x';

Object o = new Object ();
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class CInit {

int 1 = £();
//...
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class CInit {

int i = £();
int j = g(i);
//. ..
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class CInit {
int j = g(i);



int i = £();
/...
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class Counter {
int i;
Counter() { 1 = 7; }
//
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class Tag {
Tag(int marker) {
System.out.println("Tag(" + marker + ")");
}
}

class Card {
Tag tl = new Tag(l); // Before constructor

Card () {
System.out.println("Card()") ;
t3 = new Tag(33); // Reinitialize t3

}

Tag t2 = new Tag(2); // After constructor

void £() {
System.out.println("£()");

}

Tag t3 = new Tag(3);
}

public class OrderOfInitialization {
public static void main(String[] args) {
Card t = new Card() ;



t.£(); // Shows that construction is done
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class Bowl {
Bowl (int marker) ({
System.out.println("Bowl (" + marker + ")");

}

void f (int marker) {
System.out.println("£(" + marker + ")");
}
}

class Table {
static Bowl bl = new Bowl(1l);

Table() {
System.out.println("Table()") ;
b2.£(1);

}

void £2 (int marker) {
System.out.println("£f2 (" + marker + ")");

}

static Bowl b2 = new Bowl(2) ;
}

class Cupboard ({
Bowl b3 = new Bowl (3);
static Bowl b4 = new Bowl (4);

Cupboard() {
System.out.println ("Cupboard()") ;
bd.£f(2);

}

void £3(int marker) {



System.out.println("£3(" + marker + ")");
}

static Bowl b5 = new Bowl (5) ;
}

public class StaticInitialization {

public static void main(String[] args) {
System.out.println (
"Creating new Cupboard() in main");
new Cupboard() ;
System.out.println (
"Creating new Cupboard() in main");
new Cupboard() ;
t2.£2(1);
t3.£3(1);

}

static Table t2 = new Table();
static Cupboard t3 = new Cupboard() ;
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class Cup {
Cup (int marker) {
System.out.println("Cup(" + marker + ")");
}

void f (int marker) {
System.out.println("£(" + marker + ")");
}
}

class Cups {
static Cup cl;
static Cup c2;

static {



cl = new Cup(l);

c2 = new Cup(2);

}

Cups () {
System.out.println("Cups()");

}

}

public class ExplicitStatic ({
public static void main(String[] args) {
System.out.println("Inside main()");
Cups.cl.£f(99);
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